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QUESTION 1

What are three of the basic pre-built Dashboard Overview types? (Choose three.) 

A. Administrator 

B. Network Overview 

C. Server Monitoring 

D. System Monitoring 

E. Application Performance 

F. Threat and Security Monitoring 

Correct Answer: BDF 

 

QUESTION 2

What is required for a custom report to be generated? 

A. A saved search 

B. Administrative access 

C. A custom report group 

D. Access to the Custom Reporting module 

Correct Answer: A 

 

 

QUESTION 3

Which high level category is used for IBM Security QRadar V7.0 MR4 internal monitoring? 

A. Audit 

B. Internal 

C. Monitor 

D. QRadar 

Correct Answer: A 

 

QUESTION 4
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IBM Security QRadar V7.0 MR4 (QRadar) events that match a particular QRadar event rule are given a magnitude. This
magnitude is a combination of which three factors? 

A. Severity. Relevance, Weight 

B. Severity, Frequency, Weight 

C. Severity, Quantity, Credibility 

D. Severity, Relevance, Credibility 

Correct Answer: D 

 

 

QUESTION 5

Using the regex * (RecordNumber) = (. *?)\s\\', which capture group should be used to capture the digits? 

A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: C 
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